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Answer 1:

(A)

Amt. in Crores
Enterprise value of Y Ltd RS. 4 crores x 8 32.00
Less: Long-term loan 5.00
Equity value 27.00
Amt. in Crores
Fair value of 5% holding based on EV/EBITDA multiple 1.350
Less: Non-controlling discount (70/500 i.e., 14%) 0.189
Fair value of 5% equity shares 1.161
(5 Marks)
In this case, Company A Ltd. has issued warrants entitling the shareholders to purchase equity shares
of the Company at a fixed price. Hence, it constitutes a contractual arrangement for issuance of fixed
number of shares against fixed amount of cash.
Now, evaluating this contract under definition of derivative —
The value of warrant changes in response to change in value of underlying equity shares;
This involves no initial net investment
It shall be settled at a future date.
Hence, this warrant meets the definition of derivative.
Applying definition of equity under Ind AS 32, a derivative contract that will be settled by exchange
of fixed number of equity shares for fixed amount of cash meets definition of equity instrument.
The above contract is derivative contract that will be settled by issue of fixed number of own equity

instruments by A Ltd. for fixed amount of cash and hence, meets definition of equity instrument.
(5 marks)

Answer 2:

(A)

Accrual is one of the fundamental bases of accounting for preparation of financial
statements as per Ind AS-1. Irrespective of the terms of the contract, so long as the principal
amount of a loan is not repaid, the lender cannot be replaced in a disadvantageous position
by non-payment of interest in respect of overdue amount. From the aforesaid, it is apparent
that the company has an obligation on account of the overdue interest. In this situation, the
company should provide for the liability (since it is not waived by the lenders) at an amount
estimated or on reasonable basis based on facts and circumstances of each case. However,
in respect of the overdue interest amounts, which are settled, the liability therefore should
be accrued to the extent of amounts settled. Non-provision of the overdue interest liability
amounts to violation of accrual basis of accounting. (5 marks)

Adjustment of assets and liabilities is to be made if event relates to the condition existing on

the balance sheet date and provides additional evidence to assist the estimation of amounts
relating to conditions existing at the balance sheet date. In this case the fire took place on

27th March, 2017 before the date of balance sheet and debtors are declared insolvent on
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15th April, 2017, the event of 15th April, 2017 only provides the additional evidence to

estimate the amount of loss.

Accordingly, adequate provision for impairment in debtors should be created to cover the
loss arising out of insolvency for the year ended 31st March, 2017. (5 marks)

Answer 3:

(A)

Cash flows arising from taxes on income shall be separately disclosed and classified as cash
flow from operating activities, unless they can be specifically identified with financing and
investing activities. Taxes on income arise on transactions that give rise to cash flows that
are classified as operating, investing or financing activities in the statement of cash flows.
While tax expense may be identified with investing or financing
activities, the related tax cash flows are often impracticable to identify and may arise in a
different period from the cash flows of underlying transaction. Therefore, taxes paid are
usually classified as cash flows from operating activities. Example: If we strictly go by
classification of taxes in accordance with the nature of the related transaction, tax impact of
short-term capital gain should be classified as investing activity. Suppose, the entity is
incurring business losses, the same gets adjusted against short-term capital gain for tax
purposes. Accordingly, showing tax impact of short-term capital gain and business losses
separately is impracticable. Therefore, tax paid is usually classified as cash flows from
operating activity. However, where it is practicable to identify the tax cash flow with an
individual transaction that gives rise to cash flows, tax cash flows are classified as investing
or financing activities. Examples: tax payment by way of long-term capital gain on sale of
land which was used as property, plant and equipment (PPE), tax payment on dividend
received from a foreign company shall be classified as investing activity. Similarly, dividend
distribution tax under section 115-0 of Income-tax Act, 1961 viz., and preference and equity

dividend distribution tax is considered as an integral part of financing activities. (5 marks)

Result of the first quarter ending 30th June
(Rs. in crores)
Turnover 50
Other Income
Total
Less: Changes in inventories
Salaries and other cost 30
Administrative and selling Exps. (8+2) 10
Total 40
Profit 10
Note - As per the Ind AS 34 the income and expense should be recognized when they are

earned and incurred respectively. Seasonal incomes will be recognized when they occur.
Therefore the argument of the Induga Corporation is not as per Ind AS 34. (5 marks)
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Answer 4:

(A)

(i) The contractual cash flows are solely payments of principal and interest on the principal amount
outstanding. Linking payments of principal and interest on the principal amount outstanding to an
unleveraged inflation index resets the time value of money to a current level. In other words, the
interest rate on the instrument reflects 'real' interest. Thus, the interest amounts are consideration
for the time value of money on the principal amount outstanding.

However, if the interest payments were indexed to another variable such as the debtor's
performance (eg the debtor's net income) or an equity index, the contractual cash flows are not
payments of principal and interest on the principal amount outstanding (unless the indexing to the
debtor's performance results in an adjustment that only compensates the holder for changes in
the credit risk of the instrument, such that contractual cash flows are solely payments of principal
and interest). That is because the contractual cash flows reflect a return that is inconsistent with a
basic lending arrangement. (4 marks)

The contractual cash flows are not payments of principal and interest on the principal amount
outstanding. That is because the issuer may be required to defer interest payments and additional
interest does not accrue on those deferred interest amounts. As a result, interest amounts are not
consideration for the time value of money on the principal amount outstanding.

If interest accrued on the deferred amounts, the contractual cash flows could be payments of
principal and interest on the principal amount outstanding. (4 marks)

Lessor should recognize asset given under lease at net investment in lease.
Net investment in lease - Gross investment - unearned finance income
Gross Investment = MLP+ Guaranteed residual value + Unguaranteed residual value
= 2000000+100000+200000
= 2300000 (1 mark)
Unearned finance Income = Gross investment - present value of gross investment

Present Year Value of MLP | Gross investment discount factor Present Value
500000 434900
500000 378250
500000 329000
800000 457920

2300000 1600070 say 1600000

(2 marks)

Unearned finance income = 2300000 - 1600000 = Rs. 700000 (1 mark)

Apportionment of MLP into Capital recovery & finance income

Balance of lease Cash Finance Capital recovery reduced from
receivable receipts receivable

16,00,000
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13,39,520 5,00,000 2,39,520 2,60,480

10,40,045 5,00,000 2,00,525 2,99,475

6,95,740 5,00,000 1,55,695 3,44,305

— 8,00,000 1,04,260 6,95,747

7,00,000 16,00,000

(2 marks)

The lease receivable account shown in the books of lessor will not tally with the lease
liability account as shown by the lessee in his book. Difference will remain because of
guaranteed residual value from the third party or/ and unguaranteed residual value from

the lessee point of view.

There is no exchange difference in the entity’s financial statements, as the loan has been

made in dollars.

In the foreign subsidiary’s financial statements, the loan is translated into its own functional
currency (euro) at the rate of $S1 = €1.5, or € 4.5 million as of January 1,2015. At year-end,
the closing rate will be used to translate this loan. This will result in the loan being restated
at €6 million ($3 million X 2), giving an exchange loss of €1.5 million, which will be shown in

the subsidiary’s income statement.

In the group financial statements, this exchange loss will be translated at the average rate,
as it is in the subsidiary’s income statement, giving a loss of (51.5/1.75 million), or $857,000.
This will be recognized in equity. There will be a further exchange difference (gain) arising
between the amount included in the subsidiary’s income statement at the average rate and
at the closing rate: that is, $857,000 minus $750,000 (1.5 million euros/2), or $107,000.

Thus the overall exchange difference is $750,000. This will be recognized in equity. An
alternative way of calculating this exchange loss follows. The loan at January 1,2016, is €4.5

million.

On retranslation, this becomes $2.25 million at December 31,2016 (€4.5/2).The original loan

was $3 million, so there is an exchange loss of ($3 - 2.25) million, or $0.75 million.

(6 marks)
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